4,000
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40 0.004 0.028mSv/h
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35 33 31
36 32 30
27
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50
26 25
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) mmmh 40m



mSv/h
Y B Y B
1cm 70um 1cm 70um

1 0.010 0.000 0.006 0.000
| 2 | 0.010 0.015 0.006 0.000
3 0.007 0.000 0.006 0.000
4 0.007 0.000 0.006 0.000
5 0.008 0.000 0.006 0.000
6 0.008 0.000 0.004 0.000
7 0.007 0.000 0.004 0.000
8 0.007 0.000 0.005 0.000
9 0.008 0.000 0.005 0.000
10 0.008 0.000 0.004 0.000
0.004 0.000

11 0.005 0.000 5007 5060
12 0.005 0.000 5007 5018
13 0.005 0.000 5004 5095
14 0.005 0.000 5004 5006
16 0.005 0.000 0.008 0.000
17 0.007 0.000 0.007 0.028
18 0.007 0.000 0.007 0.000
19 0.005 0.000 0.006 0.006
20 0.005 0.000 0.006 0.000
21 0.004 0.000 0.005 0.007
22 0.004 0.000 0.004 0.000
23 0.005 0.000 0.006 0.004
24 0.005 0.000 0.008 0.000
25 0.006 0.000 0.006 0.004

noe s B

¢) mmmn

o



mH25.10
2

] 4 1cc
22 /

B 4.0m3

221/ x<2 <90 4.0m3

O 4m3
3.4m3
2 5x=108Bq

4m3x<9 800Bg/L+=72,000Bg/L 0.6m?3
40m3 06mM3 34ms
4.3<107Bq
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BG
1cm

70pm

:0.002mSv/h
OmSv/h

mSv/h
1-1

Y B

1cm 70um
0.002 0.008
0.003 0.057
0.004 0.021
0.009 0.006
0.009 0.006
0.008 0.000
0.005 0.000
0.010 0.000
0.010 0.018
0.010 0.015
0.010 0.000
0.008 0.000
0.010 0.000
0.010 0.000
0.010 0.000
0.010 0.000
0.010 0.000
0.010 0.012
0.010 0.015
0.010 0.010




